                                                                                                Name ____________________

TELESCOPE (Spring 2014)
YOU WILL NEED TO USE THE HANDOUTS, BACKGROUND MATERIAL AND THE INTERNET TO ANSWER THESE QUESTIONS. PUT ANSWERS ON SEPARATE PAGE.

1. The three functions of a telescope are light gathering, magnification,   

     and ______________.

2. The telescope must be pointed at which star in order to compensate for Earth’s rotation when setting up a telescope outside. 
3. Which of these eyepieces has the largest magnification: 10mm, 17mm, 25mm, or 32mm for a given telescope focal length?
4. What is the diameter (in inches) of the mirror in the telescope you use outside?

5. What is the focal length (in mm) of the telescope you use outside?

6. The three major types of telescope are Newtonian reflector, Schmidt- Cassegrain reflector and ___________?

7. The type of telescope you use outside was designed by ________?  Cantor, Galileo, Newton, Schmidt-Cassegrain, Maksutov
8. What type of mount will be used with the telescope we use outside? Alt-azimuth, CG-5 equatorial, Tyrolian, Yoke/Fork 

9.  If the 25mm eyepiece was used with a Dobsonian scope which has a focal length of 1500 mm, what would the magnification be?
10.  The ability of a telescope to collect light depends on the area of the objective lens or mirror. A telescope with a 10 inch diameter mirror will gather how may times the light of a human eye (¼ inch diameter). Divide out. Do not leave as a ratio.
11.  The diameter of a small telescope is still often given in inches. Calculate the maximum magnification for a telescope with a focal length of 2.0m and a diameter of 6 inches. 

12.  Our new telescopes still have the same focal length as the old ones but the largest eyepiece is 32mm instead of 40mm. The magnification with the 32 mm eyepiece is how many times the magnification with a 40mm lens? 
13. Magnification is sometimes specified by a number followed by x (such      

      as 10x). The magnification of the finder scope is   ____.
14. The Hubble Space telescope’s primary mirror had a flaw called 
       _________.  Our telescopes came with a corrector plate for this flaw.
15. Which eyepiece in #3 has the largest true field of view if the apparent   
      field is the same for each eyepiece?
16-20. Identify the parts. There are 2 telescopes with pieces of paper on the 

          parts you are to identify (same parts on each scope).

